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1. Logan buys a recipe book and a birthday card.

The book costs £7.99

The card costs£2.85

Work out the total cost of the book and the card.

£ . . . . . . . . . . . . .

2. Hailey buys a spring rolls and a chicken panang at a Thai cafe.

The spring rolls costs £4.30

The chicken panang costs £7.50

Work out the total cost of the spring rolls and the chicken panang.

£ . . . . . . . . . . . . .

3. Emily buys an adult and a child day return to Southampton.

The adult ticket costs £32.50

The child ticket costs £16.25

Work out the total cost of the adult and child tickets.

£ . . . . . . . . . . . . .
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4. Victor buys a lamb shish kebab for himself and a chicken doner kebab for his friend.

The cost of the lamb shish kebab is £6.75

The cost of the chicken doner kebab is £7.75

Work out how much he pays for the kebabs altogether.

£ . . . . . . . . . . . . .

5. Hollie buys two bus tickets.

The tickets cost £2.90 each.

Work out the cost of the two bus tickets.

£ . . . . . . . . . . . . .

6. Michael buys a suit jacket and the matching suit trousers in a sale.

The cost of the jacket in the sale is £49.00

The cost of the trousers in the sale is £29.00

Work out how much he pays for the jacket and trousers altogether.

£ . . . . . . . . . . . . .
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